14

2016

’

12

/2018

2

,210008)

4,
(

(2011



W |

ROR

e .

2

(/NI T7RAER, ADEA4ARAIR. DT
B haRZ LR AAERT RS AR R
(bR EL /MR 3B, NaaAT4 <R,
AR JLRAER? ES L.
()VPIATRSER, WIb/heRE3 IR,
NERAJURAIR? ES HARSE.

3

41%3)5'5]6 y 7 13E—éﬂa\%@é E@ﬁﬁ o

) 6 “81

(a.b

,c,d Do

EI 6 81-9=(3) ik THY TN TR T
Hndﬂnnulnthn.mmnﬂ*“¥*“¥ 1\
. Hh 1 ud tally~
fi%: RRABBEASERBHERN,
5
6. 81-9=(9)
How did you come up with your answer?

[ Know ;tbq»é 7?_["‘2 :8150
‘91_;KZ would =24, Var

% RhH79+2=81, FiIl, 81-79=2
6

Bs. 81-19=([§) - 3'
HRERBHIEMERN? '_T%—

BEHS ol +8 sucp 4]

7

6. 81-19=(7)
HRERBHIMERN?

2119=8]

75%  30%,

15



16

13%

3%,

”»

2%

.

o b
50%,
1%, 14% ,
b
.
b
b
“ ”»
““
b
“ ”
996 _ —
— ”
”
( 10),
b
’
/2018 2

£

)
43‘; & ﬁv\o’i

ﬁ:ns.l

O 7l ll bl Ll

9
34 )9 ( p6-12
9+3= 12+6=
=( )R () Ft=
2x3= 5x2= 3x4=
6+2= 10+5= 12+3=
6+3= 10-2= 12+4=
10
“ s 9
(9+6=[15]),
([15]—6=9);
: C .
) 9 ’
¢ 1D,




Problem 1 Multiplication Division
X ® = 15 15 + ® =

number  group total total group  number

of groups  size  (purduct) (purduct) size  of groups

(factor)  (factor) (factor) (factor)
Problem 2 Multiplication Division
1 x 5 =10 15 - 5 =

number number in
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